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	Tectonic Plate Slip
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	This activity models the build up of stress that causes a tectonic plate to slip, resulting in an earthquake. An Earthquake Simulator Pulley is used to drag a brick over sandpaper. In our version, a force sensor is used to measure force and a motion sensor uses ultrasound to locate the position of the brick. Force and position are logged on a laptop.
	

	A sample data run is shown on the right. The lower graph is of position (y axis) versus time, with each slip represented by a sudden increase in y value.  As happens with real earthquakes, there is a range of magnitudes.
It is interesting to zoom in on a particular area of the graph to show the relationship between force and displacement.
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	Looking at the two graphs, we see that the force reaches a peak value which causes the plate to move. When the plate begins to slip, the force reduces. 

To Try:
· Attempt the activity yourself. Guidance will be given if you have never used Pasco interfaces and the accompanying software.

· Examine your graph. Zoom in on a single build up of force. Does force go to zero? When does motion stop?
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